Name

Compound AND Inequalities

Solve and Graph.

Period

1. 0<2x—-6<4 2. -5<4-3x<?2
-+t G
3, —3<2x4"1<0 4.1<1-2<4
+-*+—t—t—+—t—+—+—F——+» ++—+—+—t—+—t—+—+—+>»
5 1l 3 6. 3<x+5<8

2 3 4
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7.2<2—§<4

8. -1<3x+2<14
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9. -1<3(x-2)<9 10. 5<x+1<7
<l l l 1 | l l l l L ol l 1 1 l l l 1 1 L
11. -10<-3x—-1<17 12. 3<2x-1<9
<a-l 1 1 1 l l l 1 1 L» | l 1 [l l l l 1 1 L
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Name

Period

What did the cowboy say when he fell of f his horse?

Solve. Match each problem number with its solution graph letter in the blanks below to answer riddle.

1) 7+m22andm+1<2

2)-10<4 -7y <25

3) 3m-1250r3m+1<-5

4) a+2<4anda+2>-5

5) 4+x2-3and4+x<5

6) -14<4k—-2<6

7) 1-2a<50r1-2a>5

8) -31<4-7y<25

9) 2m—-121or2m—-4<-4

10) 4>1+3x>-5

11) -7<-3+x<-1

12) 3<d+5<8

13) 3<2x+1<13

14) 7-4k>150r5k-1>19

Copyright 2010 www.algebrafunsheets.com




Name Period
Compound Inequalities
Solve. Match each problem number with its solution graph letter.
1) 7+m=22andm+1<2 2)-10<4-7y<25
A. Gttt @=t—ti—t=p>
0
A o A

3) 3m-1250r3m+1<-5

4) a+2<4anda+2>-5

5) 4+x2-3and4+x<5

6) -14<4k—-2<6

7) 1-2a<5o0rl1-2a>5

8) -31<4—7y<25

9) 2m-121lor2m—-4<-4

10) 4>1+3x>-5

11) -7<-3+x<-1

12) 3<d+5<8

13) 3<2x+1<13

14) 7—4k>150r5k-1>19
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Name

Compound Inequalities

Solve each inequality and graph the results on a number line.

1) 3<2x+1<13

2) a+2>6ora+2<-6

3) 4+x<-30ord+x25

4) -14<4k-2<6

5) 2m—-121or2m-4<-1

6) 10-2p<12and7p<4p+9

9) -10<4-7y<25

10) 4>1+3x>-5

11) 3m-1250r3m+1<-5

12) -6<-3+x<-1
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